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To exclude, what — ORM MRS

OVERVIEW

The X3 states that the opinion of 27 is that 771 is not a 711. The X713 derives this
from the fact that 27 stated (regarding the NP1 between ¥"1 °"1 in our 73wn) that
those are the views of ¥"71 %", however the 0°»or maintain that the 11 [for a 77w
12°81] is three years 017 01°n; indicating that presumably 27 maintains that 71 is not
a npm (for if 771 is a 7P why is there a requirement of av? avrn DWW 'l).l Our
mooIn challenges this proof.

mooIn asks:
— MNNP N VIVNTT NINN NN Y917 BN9AN 12 punvy 19%249Y NN

The R'"2wn is astounded; from where is it evident that 17 is coming to exclude

=92 that it is not a 7P, for -
— PN NN NI 1929 99209 NnYY

Perhaps the 3339 maintain that =1 is a 7p1n -
— 09 0N DNV /) TO98T NI
And the reason there is a requirement of 2199 219 231w '3 by a 19X 77 is not because

7°11s not a 7P, but rather -
— 312929 Y3 Y9179 *RIDWA YWIPK 90T IV NN 1¥1 DIUN

Because up to three years a person is careful to keep his auw, as X217 explained
in the beginning of our P95 -

12NV MIYINY 52957 WINN 1oAY N7 APTN M7 993 NN ‘WHY MmN DY XY 1959N)
And even if the P11 did nothing during those three years except for =42, it will
be a npm, since it is not in the nature of a person that his land is plowed by
others and he remains silent. nmooin does not answer this question.’

SUMMARY
The o°non who require a mpI to be orh o1n w") can seemingly nevertheless
maintain that 7°1 is a P17 (not as the X3 surmises).

! See WY "7 0"aw who writes that if 773 is a 7P all that would be required is a year and two days (in which to do
771 one day before the year and one day after the year).
2 Therefore even though 71 is as good a 7P as M°D n?°2X1 7y°1, nevertheless if it was not 012 orn ", there is a
XMy in his 7P, for where is the 77°27 0w,
3 R,00.
* Others insert here the word '2°12". See “Thinking it over’.
3 See Ao ND and MY O.
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THINKING IT OVER

mooIn writes that even if he only did 771 in these three years, the 2’517 can maintain
that it 1s a npm.6 However in the previous 771 7"7 '01n, the °"7 maintains that even
according to XnX ", who maintains that 71 is a 711, nevertheless it is a 7P only if
7711 7vIN 773; so how does Moon here claim that even if there was only 73, it is a
aon?!

® See footnote # 4.
" See w1 MR >
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